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1) Find area of square 2) Find area of triangle 3) Find area of
having each side (s) a=3577m,b= b rectangle having
s equals 3367 in b b 4554 m sidesa=5740in
a and b =4900in
s a
Answer: Answer: Answer:
4) Find area of triangle 5) Find area of 6) Find area of triangle
a p h=4679in,a= rectangle having s $=9369 cm
9591 in, sidesa=9141 ft
T b=9858in,c= a and b = 7764 ft <
9952in
Answer: Answer: Answer:
7) Find area of triangle 8) Find area of triangle 9) Find area of triangle
. s=9820ft . s=2419ft . . s=4033ft
s s s
Answer: Answer: Answer:
10) Find area of 11) Find area of square 12) Find area of
. . triangles=5331m having each side () b rectangle having
s equals 4627 in sidesa=4831in
r a andb=3189in
s
Answer: Answer: Answer:
13) Find area of 14) Find area of 15) Find area of
b rectangle having b rectangle having b rectangle having
sidesa= 8764 m sidesa=5487m sidesa=5613m
a and b =5290 m a and b=4024 m a and b=1858 m
Answer: Answer: Answer:
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16) Find area of square 17) Find area of 18) Find area of
having each side (s) . triangles=8252in b rectangle having
s equals 1560 cm sidesa= 7992 cm
= a and b =7639 cm
3
Answer: Answer: Answer:
19) Find area of 20) Find area of triangle 21) Find area of square
. triangle s= 9827 m a=2788ft,b= having each side (s)
b ¢ 6382ft s equals 6824 m
r 1
a s
Answer: Answer: Answer:
22) Find area of 23) Find area of 24) Find area of
b rectangle having b rectangle having . triangle s = 5526 ft
sidesa=9966 m sidesa= 8139 ft
a andb=9255m a and b = 5407 ft r
Answer: Answer: Answer:
25) Find area of square 26) Find area of 27) Find area of square
having each side (s) b rectangle having having each side (s)
s equals 3797 m sidesa= 8382 ft s equals 5655 ft
a and b = 2653 ft
s s
Answer: Answer: Answer:
28) Find area of triangle 29) Find area of triangle 30) Find area of
a p h=4418ina= a p h=1794m,a= b rectangle having
9766 in, 2259 m, sidesa=8339m
c b=9989in,c= c b=2931m,c= a and b = 6667 m
9990in 4650 m
Answer: Answer: Answer:
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Answers:
1) 11336689in 2) 5540366.7768091m  3) 28126000in 4) 23062791in  5) 70970724ft 6) 38009058.66174cm  7) 41756454.073951ft
8) 2533800.2388971ft  9) 7042990.1344074ft  10) 12306030.895201m 11) 21409129in 12) 15406059in 13) 46361560m 14) 22079688m
15) 10428954m 16) 2433600cm 17) 29486218.173752in 2?.2)508880m 19) 41816005.87783m 20) 8896508ft 21) 46566976m
22) 92235330m 23) 44007573ft 24) 13222768.581567ft  25) 14417209m 26) 22237446ft 27) 31979025ft 28) 22065701in
29) 2629107m 30) 55596113m
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